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Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer question 1 in Section A. You must answer two questions from Sections

B and C - this means either two questions from Section B or one question from
Section B and one question from Section C. Write approximately 270 to 320 words
for questions in Section B and Section C.

We recommend you spend 30 minutes on Section A: Translation.

Answer the questions in the spaces provided

— there may be more space than you need.

Information

The total mark for this paper is 110.
The marks for each question are shown in brackets.

Advice

Read each question carefully before you start to answer it.
Check your answers if you have time at the end.
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O m

SECTION A: TRANSLATION
gl 2l L syl Al e JW edl s 1

Youth unemployment is one of the priorities of several Arab governments that

are enjoying, at present, a degree of political stability that enables them not to be
exclusively concerned with this matter. Among the major causes of their limited
success in this regard is insufficient mobilisation of domestic and foreign investments
to tackle this challenge. This crisis is due to other factors related to the type of
economic model adopted by these countries. Experts recommend enhancing
education and skills, developing labour market policies, promoting entrepreneurship,
self-employment, and protecting rights at work for males and females. Finally,
establishing the right links for all these objectives.
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(Total for Question 1 = 20 marks)

TOTAL FOR SECTION A =20 MARKS
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Respond to TWO questions. Choose EITHER TWO questions from Section B OR ONE question

O m

from Section B AND ONE question from Section C
SECTION B: WRITTEN RESPONSE TO WORKS (LITERARY TEXTS)

Write approximately 270 to 320 words for each question.
(5o 3dg) il oo yshas 2
S(S)gm g e Cares L}d\ ww\ Bl J,L- (a)
OR
gl i) SBLE gl 355 sl Jols ST -4 (b)
(Total for Question 2 = 45 marks)
(pdl U jeol) )l Lo 3
sy B L slae¥) U alll e 5T ) oleasesd) o U= @)
OR
azly) DU Lo Olse IS L e w5 (D)
(Total for Question 3 = 45 marks)
(5o doxl) Al i pns 4
OR
Ak A s sl Lt ) o) Al 30 (b)

(Total for Question 4 = 45 marks)
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SECTION C: WRITTEN RESPONSE TO WORKS (FILMS)

Write approximately 270 to 320 words for each question.
(Sl ($0%) s> 0219 0 o3t kb
o) gl ol 2asle Y1 At s (a)
OR
el ST S e el el B Al L ZUST 250 (b)

(Total for Question 5 = 45 marks)

(Clagl s kb)) Co dsli) ool

ol B e add U e > (a)

OR

RUI I D ES S P SX SN R CE N PN ()
(Total for Question 6 = 45 marks)

(ypiodl slén) Gulzmg obd

V‘L:"J‘ L}" L@"é\ﬁ"‘ JB)\} e RM)-L«.S‘ 8}1.LA Ao v;; (@)

OR

NEEYEI] CAJ.’,LA.S‘ gs’ Olrg il saas 5 alls) i sl ks u;@pj (b)

(Total for Question 7 = 45 marks)

MR 0 o
P 7 2 4 4 0 A 0 6 1 6

Y3adY SIHLNEILIHM 1ION Od V3HY SIHLENEILIHM 1ON Od

Y3HY SIHL NI ILIEM 1ON Od



DO NOTWRITEIN THIS AREA DO NOTWRITE INTHIS AREA

DO NOT WRITE INTHIS AREA

Indicate your first question choice on this page. You must use this space to answer ONE question
from Section B (Literary Texts). You will be asked to indicate your second question choice on
page 11.

Indicate which question you are answering by marking a cross [X in the box. If you change your
mind, put a line through the box $<¢ and then indicate your new question with a cross [X.

Chosen question number:

Question 2(a) [ Question 2(b) []
Question 3(a) L[] Question 3(b) []

Question 4(a) L[] Question 4(b) []
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DO NOTWRITE INTHIS AREA

Indicate your second question choice on this page. You must use this space to answer ONE

question from EITHER Section B (Literary Texts) OR Section C (Films).

Your second question must NOT be on the same literary text as your first question.

Indicate which question you are answering by marking a cross X in the box. If you change your

mind, put a line through the box ¢ and then indicate your new question with a cross X.

Chosen question number:

Question 2(a) []
Question 3(a) []
Question 4(a) []
Question 5(a) []
Question 6(a) []

Question 7(a) [

Question 2(b) []
Question 3(b) []
Question 4(b) []
Question 5(b) []
Question 6(b) []
Question 7(b) []

DO NOTWRITEIN THIS AREA

DO NOT WRITE INTHIS AREA
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TOTAL FOR SECTIONS B AND C =90 MARKS
TOTAL FOR PAPER = 110 MARKS
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BLANK PAGE

J

16

P 7 2 4 4 0 A 0 1 6 1 6

O .

0T l0%
0938 9 1 )98
QBB
SRR
plodavacs
S
3

%
QL

066

W KL
odetetotedotes
RRLLLLLL

5

o
O

%
o otetetotetotetetetetel

2%
%!
LK

Y o \
1 Sosesasanies
G XK
A

%

Ne
St
3RXKS

e
0700008
p50-e:elets
b=ty
IS
M
Saas
LI,
éé:“$
o o



